Adaptiertes (QCIELAB ( C*,p 5 L*) und relativesCIELAB ( C*japr, * jap+)
System: ORS18 Flape = (L* =% )/ Cw -L*n)

C*lap+ =C*ab.a/ C*abam
M = Maximalfarbe

CIELAB-Bunttonwinkel:
habd:[37 96,150, 236, 305, 353] |,
hape= [26, 92, 162, 217, 272,329] ~ 2

japr = C*jap+ €OS hyp
b*aps = C*jap+ SN hap

relative Buntheit a* g+




Adaptiertes (aCIELAB ( C* o L*) und relativesCIELAB ( C¥japt, I* ap+)
Flape = (L* =¥\ )/ Crw -L*N)

CIELAB-Bunttonwinkel: @ labt =C au,:/E abaM

habd=[40 102, 136, 196, 306, 328]p 5 M = Maximalfarbe

hape= [26, 92, 162, 217, 272,329] ~ 2

System: TLS00

a*|apr = C¥jap+ COS hyy
b*iabs = C¥jap+ SiN hap

relative Buntheit a* g+




Adaptiertes (QCIELAB ( C*ap o L*) und relativesCIELAB ( C*japs, I* jap+)
System: FRS06 Flap = (L =L*N )/ w -L*N)

C*lap+ =C*ab.a/ C*abam

CIELAB-Bunttonwinkel:
M = Maximalfarbe

Mo = [36. 91, 143, 231, 312, 337] .

hape= [26, 92, 162, 217, 272,329] - 20

ajap» = C*japs €OS By
b*aps = C*jap+ SN hap

relative Buntheit a* g+




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
System: TSL18 Flape = (L* =% )/ Cw -L*n)

C*lap+ =C*ab.a/ C*abam
M = Maximalfarbe

CIELAB-Bunttonwinkel:
habd:[SA 103, 136, 196, 304, 328]p,
hape= [26, 92, 162, 217, 272,329] ~ 2

japr = C*jap+ €OS hyp
b*aps = C*jap+ SN hap

relative Buntheit a* g+




Adaptiertes (QCIELAB ( C*ap o L*) und relativesCIELAB ( C*japs, I* jap+)
System: NLS00 Flap = (L =L*N )/ w -L*N)

C*lap+ =C*ab.a/ C*abam

CIELAB-Bunttonwinkel:
M = Maximalfarbe

N = [29. 89, 150, 209, 270, 330] .

hape= [26, 92, 162, 217, 272,329] - 20

ajap» = C*japs €OS By
b*aps = C*jap+ SN hap

relative Buntheit a* g+




Adaptiertes (QCIELAB ( C*,p 5 L*) und relativesCIELAB ( C*japr, * jap+)
System: NLS18 Frape = (L* =L )/ Cw -L*n)

C*lap+ =C*ab.a/ C*abam

CIELAB-Bunttonwinkel:
M = Maximalfarbe

a4 = [30. 89, 149, 210, 270, 329] .

hape= [26, 92, 162, 217, 272,329] - 20

ajap» = C*japs €OS By
b*aps = C*jap+ SN hap

relative Buntheit a* g+




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
System: SRS18 Frape = (L* =L )/ Cw -L*n)

C*lap+ =C*ab.a/ C*abam

CIELAB-Bunttonwinkel:
M = Maximalfarbe

a4 = [30. 89, 149, 210, 270, 329] .

hape= [26, 92, 162, 217, 272,329] - 20

ajap» = C*japs €OS By
b*aps = C*jap+ SN hap

relative Buntheit a* g+




Adaptiertes (QCIELAB ( C*,p 5 L*) und relativesCIELAB ( C*japr, * jap+)
System: TLS70 Flape = (L* =% )/ Cw -L*n)

C*lap+ =C*ab.a/ C*abam
M = Maximalfarbe

CIELAB-Bunttonwinkel:
habd:[ZI 107, 142, 197, 298, 326},
hape= [26, 92, 162, 217, 272,329] - @

japr = C*jap+ €OS hyp
b*aps = C*jap+ SN hap

relative Buntheit a* g+




